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The figures' in the niarglri mdlcate full marks
for the quesnons

Answer either in English. or in Assamese.

1. Fill in the blanks wuth appropnate word(s)
: 1x5=5

. Seiye W@ TR AE SR ﬁﬁqzﬁﬂ
(a) 1 KB information is equal to bits.
| KB U M - ey

(b) The maximum capacity of a;channel to carry
data is known as C
e Bl R YT OY A IR o
FAOIS _ Qe

[Turn over



(c) A_____isa prdgram--in execution.
GGt e WA (7 B GOl S|

(d) The intersection of a row and a column in MS
Excel is. called a::

. MS, Excel-e LﬂT‘ﬂ *ﬁ’l % 96 T v aﬁi
czrrc*n ?a:m

, _(e} The address of a webpage isknownas
@?mei o ct ﬁiawm“mas . @E =

-2, State whether the followmg sentences are true or -
" false : . - ©1x5=5
© TS ﬁar m oa & e @‘r.m £

(a) Trans1stor was used in the tlurd generauon
computers,

{ £ ?.‘51'3:?1! _ -

- (b) Operatmg system i$ ‘an -application Software :

'wam%"%cﬁﬂuaﬁ«ﬂfamam,

" (c) Assembly language is a machine dependent
language.

Tl FRORE B o frSetie s
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(d) . Internet is basc_d. on TCP/IP protocol. -
"ZBIREE TCP/IP 245°T'eR 8o afofs|

(e) To create a New Document in MS Word
<Ctrl+O> key is used.

MS Word-® a'g»l Wﬁ éﬁﬁ Z—!na asﬁata
<Ctrl+0> qi‘ﬁl W 1 2|

3. Answer the followmg questlons Do 2%5=100
©ER eMPEOR Bed L

(a) What is EPROM ? L
EPROM f%? R P PR

.

- r
.

(b) Mention two basic features of LLAN..
LAN=R 45! Gfers Caf#i®y: Sy 3t

(c) What do you mean by Deadlock 7
e e [ @

~ (d) What is mail-merge ?

(e B
(e) What do you mean by online and_' offline ?

R e S e B e
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4. Wiite the differences between the - following.
(any three) : - - 5%3=15 |
oS IR e AR 9[1%1%51 feran (R
Rfbr s

“(a) Input devices and output devices.

Tels iRl S SIG5eE itz

s

(b) Mulnprocessmg and Multitasking operating
© system.

TfeBerTeiR wﬁiﬂﬁ%%ﬁi s oo |

(c) RAM and ROM. .
RAM ¥i¥ ROM |

(d) Hardware and Software .

TESR E éﬁﬁﬁaat

(e) Downloading and Uploaiding.
TG Te: Wie Sofe s |

5. (a) What do you mean by communication channel
' Briefly discuss the different types of channels.
_ 2+8=10
e N I T qoe Rfon e
TR R ST &S 1|
Or / Fizx
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(b) Briefly discuss about the advantages of using

(a)

computer network in ‘Business. Mention
different layers of OSI Model. = 6+4=10

530 MDAl 911 OSI wer R[fon saopig
TS 4|

Define an operating system. Discuss the ‘
different functions of operating system.
24+8=10

oAl B swce ) st Boew

RS SRETR DA F41

Or/ﬂm

Discuss the features of thc dlffcrent types of
computers. 10

'Ww@r@%ﬁwmw

4|

Mention four basic features of MS /Word.
How do you create tables in MS Word ?
Discuss with example. 4+6=10

MS Word-< 51f{6! Giifeies Caf1®) Sead 3111 MS

 Word-® (5371 (FEHE (SR aiﬁﬁw ZGESEE

W_WWI
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Or /@ .

(b) erte the steps to perform the followmg in

MS Excel : 10
. MS Bxcels w7 ﬁ'ﬂﬂ‘fiwm SRete
SR SEd ¥ ¢

- (i). To .insert data

(u) To edit data _
ol aﬁ% aﬁa?a

(iii) To insert a function

(1v) To prepare-a’ chart :
RO ACHI asﬁata

8 “AVrite short notes of the following (dny three) :

| vy . - .0 5%3=15
N Wﬁﬁm{@wcﬁmﬁw(ﬁmmﬁﬁ%ﬁ)
(a) C P U
ﬁﬁl?@
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- . s ‘\‘/"‘, P l: .
(b) MS PowerPoint
QAR ARIEERS

(c) Applications of IT

o) oYfeq o
K (d) ‘Web Browser
(e) ITin Education.
- frere oY e
7
-l
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